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2NO + 2CO → N2 + 2CO2 
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𝜌𝜌 𝑐𝑐

𝜌𝜌 = 𝑚𝑚
𝑉𝑉

𝜌𝜌
𝑚𝑚
V 

𝜌𝜌 =
𝑚𝑚
V

𝜌𝜌 = 57.5
0.6

𝜌𝜌 = 95.8 g. L−1

𝑚𝑚 = 𝜌𝜌𝜌𝜌

𝑚𝑚 = 60.0 x 0.25

𝑚𝑚 = 15.0 g
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C3H8 + 5O2 → 3CO2 + 4H2O 

 

𝑛𝑛C3H8 = 𝑚𝑚
M 𝑛𝑛O2 = 𝑚𝑚

M
𝑛𝑛C3H8 = 50

44.094
𝑛𝑛O2 = 125

32.00
𝑛𝑛C3H8 = 1.1 mol (1.13) 𝑛𝑛O2 = 3.9 mol

𝑛𝑛CO2)

Ratio = 3𝑛𝑛CO2: 1𝑛𝑛C3H8 Ratio = 3𝑛𝑛CO2: 5𝑛𝑛O2

𝑛𝑛CO2 = 𝑛𝑛C3H8x 3 𝑛𝑛CO2 =
𝑛𝑛O2

5 x 3

𝑛𝑛CO2 = 3.4 mol 𝑛𝑛CO2 = 2.3 mol (2.34)

 

𝑛𝑛CO2 = 𝑛𝑛O2(limiting reagent)

𝑚𝑚CO2 = 𝑛𝑛CO2MCO2

𝑚𝑚CO2 = 2.34 x 44.01

𝑚𝑚CO2 = 103 g
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• 𝑅𝑅𝑓𝑓

 

𝑅𝑅𝑓𝑓

𝑅𝑅𝑓𝑓 = distance travelled by component 
solvent front

𝑅𝑅𝑓𝑓 = A
solvent front

𝑅𝑅𝑓𝑓 = B
solvent front

𝑅𝑅𝑓𝑓 = C
solvent front

𝑅𝑅𝑓𝑓 = 1.5
8.0

𝑅𝑅𝑓𝑓 = 4.1
8.0

𝑅𝑅𝑓𝑓 = 6.8
8.0

𝑅𝑅𝑓𝑓 = 0.19 𝑅𝑅𝑓𝑓 = 0.51 𝑅𝑅𝑓𝑓 = 0.85

𝑅𝑅𝑓𝑓
𝑅𝑅𝑓𝑓
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µ
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Cr2O72− + 14H+ + 6e− → 2Cr3+ + 7H2O 
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• 

• 

6CO2(g) + 6H2O(𝑙𝑙) → C6H12O6 (s) + 6O2 (g) ∆𝐻𝐻 = +2803 kJ. mol−1

C6H12O6 (s) + 6O2 (g) → 6CO2(g) + 6H2O(𝑙𝑙) ∆𝐻𝐻 = −2803 kJ. mol−1
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H2 → 2H+ + 2e− 

O2 + 4H+ + 4e− → 2H2O 

O2 + 2H2 → 2H2O ∆𝐻𝐻 = −286 kJ. mol−1
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 V2+ → V3+ + e−     

VO2
+ 

VO2+

VO2
+ + 2H+ + e− → VO2+ + H2O 

 V3+ + e− → V2+     

 

 VO2+ + H2O → VO2
+ + 2H+ + e−
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μm
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Al3+ + 3e− → Al

2O2− → O2 + 4e−

C + O2 → CO2
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𝑛𝑛PbS = 𝑚𝑚PbS
M

𝑛𝑛PbS = 50 000
(207.2 + 32.06)

𝑛𝑛PbS = 209 mol  (208.98)
2𝑛𝑛PbO : 2𝑛𝑛PbS

𝑛𝑛PbO = 𝑛𝑛PbS

𝑛𝑛PbO = 209 mol  (208.98)

𝑛𝑛O2 = 𝑚𝑚O2

M

𝑛𝑛O2 = 15 000
(16.00 x 2)

𝑛𝑛O2 = 469 mol  (468.75)
2𝑛𝑛PbO : 3𝑛𝑛O2

𝑛𝑛PbO =
𝑛𝑛O2

3  x 2

𝑛𝑛PbO = 468.75
3  x 2

𝑛𝑛PbO = 313 mol (312.5)
𝑛𝑛PbS

𝑚𝑚PbO = 𝑛𝑛PbO x 𝑀𝑀

𝑚𝑚PbO = 208.98 x (207.9 + 16.00)
𝑚𝑚PbO = 47 x 103 g (46 790)

𝑛𝑛PbO = 𝑚𝑚PbO
M

𝑛𝑛PbO = 45 000
(207.9 + 16.00)

𝑛𝑛PbO = 201 mol (200.98)
1𝑛𝑛Pb : 1𝑛𝑛PbO

𝑛𝑛Pb = 201 mol (200.98)
𝑚𝑚Pb = 𝑛𝑛Pb

𝑚𝑚Pb = 200.98 x 207.9
𝑚𝑚Pb = 42 x 103 g    (41784)

3𝑛𝑛Pb : 2𝑛𝑛PbO

𝑛𝑛Pb = 200.98
2  x 3

𝑛𝑛Pb = 302 mol  (301.47)

𝑚𝑚Pb = 𝑛𝑛Pb 𝑀𝑀

𝑚𝑚Pb = 301.47 x 207.9

𝑚𝑚Pb = 6.3 x 104 g    (62676)
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 𝑅𝑅𝑓𝑓

𝑅𝑅𝑓𝑓

𝑅𝑅𝑓𝑓 

𝑅𝑅𝑓𝑓 (B) = B
solvent front = 1.4 cm

3.6 cm
𝑅𝑅𝑓𝑓 (B) = 0.39

𝑅𝑅𝑓𝑓 (C) = C
solvent front = 2.4 cm

3.6 cm
𝑅𝑅𝑓𝑓 (C) = 0.67
∆𝑅𝑅𝑓𝑓 = 𝑅𝑅𝑓𝑓 (C) − 𝑅𝑅𝑓𝑓 (B)

∆𝑅𝑅𝑓𝑓 = 0.67 − 0.39
∆𝑅𝑅𝑓𝑓 = 0.28
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